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The figures in the margin indicate full marks
jor the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x10=10
So 2P el o

fa) Who put forward the IS-LM model?
1S-LM SEHT (F1e SoRGIEEA 2

{b} What is the condition for equilibrium in
the goods market?

w9 THEE SRAOR 78 ¥ 2
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(c)

(d)

{e)

fa)

th)

fi)

]
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{2)

Define effective demand.

SAfiry sifEne sigea fian |

What is meant by aggregate supply?
St e e R qem e

What is stagflation?

o s & 2

What is meant by unemployment rate?
faeeER =7 e R @ 2

Give an assumption of multiplier.

239 51 Sy fordr |

What is Balance of Payments?

@O e 7

Give the meaning of demonetization.

fRgaeRe = ey |

What is exchange rate?

RFmza oo

{ Continued }

(3)
2. Answer the following questions : 2x5=10
Co 2R e o
fa}j What are the components of aggregate
demand?
ST S SemerRz & R 2

{b} Why is the slope of IS curve negative?
IS (AR O 4ae ¥ 2

{c) Show the differences between Current
Account and Capital Account. _

sfore 351 e oAl TR AR edERR
O |

{d) Mention two features of inflation.

TarfeT 151 8318 Ty 0

{fe} What are the two types of foreign
exchange market?

A R ToT (61 PR B B 2
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(4) (8)

3. Answer any four of the following questions : {f) Give the meaning of foreign exchange.
5x4=20 What are the instruments of foreign

24A/742

T e R e viRbr Tes o

{a} Define aggregate demand curve. Why
does the aggregate demand curve slope

exchange?

ot Rfswm we o) ot Rivw
Wit R 2 ,

downward?
AT CiRM @R e e AW i 4. Answer the following questions : 10%x4=40
OISO BT ¥ 7

T epTRR ed o

(b} What are the limitations of IS-LM
model?

IS-LM wiigq Sz & & 2

fc} Explain the importance of multiplier.
VIS BFF Y 90|

{d) What are the measures to control
inflation?
YorEIS g 33/ ez & 2

fe} Define Phillips curve. What does the
short-run Phillips curve show?

Rfp @R e fm | TreeE Rfep @i
& o e

{ Continued )

{a)

(b}

29A1742

Define IS-LM curve. Explain the IS-LM
model with the help of diagram.

IS-LM @9 = 7 | 1S-LM wi¥s e
TS AR 39 |

Or / 9%
Explain how LM curve is derived.

LM @t {978 Sredel 341 59, 700 904

Explain the causes of demand-pull and
cost-push inflation.

wrifR viRm-Ifete e w-RsEe

FEPTIE A I |
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